4,65 CIVEN: A SPHER(CAL GCAS VELCITY PRoBE

THE PRESSURE  (OEFFICIE~TS AT @ Are

vyl 10 AP D -~ 0, 4 /b,qL -]53 = ‘/k%
| ks
LAS PERSITY S L5 =3

Finot GRS VELOCITY _,_,/\
._ A 3

50 LVT : o~ po ~ Po
v fopo CPh: ....._.P_.-—-———- CPB=_E—B—-—£‘

CPH"‘CPB:: 1 Va
(/]

V - .2/}7& -/bsj - [
? _ /(CPA - Cre)
i 2 ( Yooo ) K
Vo = 1.6 (1o -(-04)

m
s = 617 s




4,66

\

GlvEn: STACK GAS ELOCITY B
MERSURE NEMNT TVEE As

A -
S Hown, C/;A - Lo AnD 7
CFg = -0.3. waTeER AT 207 ﬁb

1LY mmuq_mFTEQ) Al’\ 0 Fcm

STACK. GAS PROPERTIES | P: ro1 kPa T = 2580°C
T

AP L = o ¥e's)

£ N0 STACK GAS veE L oCtT 7

SoLy Y22 I CD CFR - | Pﬁ - bo @ CPB - PE B /E_{_’_
VI Vs
AND @ Pﬂ _ PB = T AL) ) THREE Equﬁf—rfaNS'

Ha0

J PA J PB ANE VD-

weTH THREE UmKIowrs S

ComegnfE @ d—@,

- = Pn — PB o N
A 1 o> Voo™ 7800 oF
ComBINE.  THIS wird (D _ b _ _loy 000
| | X)I_*zo Hh P = R T T (200)(523)
CP# - C/bg = T 2 _k-g—
= plo po= 0.966 3

- 2 YHz.o Ah. _é
Vo B [ / (C/JA- CPB) ]
2 (9900) (,-053) ] é
(0. 966)(1:0 +0.3)

Vo

Vo = .2 m/s




473

Consider the flow of water vver the surfaces shown below. For each case the depth of
water at section D-D is the same (1 ft), and the mean velocity is the same and equal to
10 ft/s. Which of the following statements arc valid?

A py < pe < pa

b. py < pa < pe

C Pi™ps ™ pc

d. pPc > ps > P

€ Ps > pc > pa
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